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Question 1 Marks

a) Evaluate, correct to 3 significant figures

6.77 -4’ )
3Ix9.7x58
b) Sona and Jess paid $97.40 for 2 meal at a restaurant. This includes a 13.5% tip. What was the cost
of the meal without the tip? i
¢) Factorise the following 6
(@) 3x*-2x-1
(i) 24x* -3
(iii) & -p*-3a-3b
d) Solve the following equation, leaving the answers in the simplest exact form,
4x*—2x-1=0 3
Question 2 ( Start a new page)
a) Solve the following pair of simultaneous equations.
2x+y=1
Sx+3y=1 2
b) Solve the following equation,
lx + 4| =2x~1 3
¢) Given @ is an obtuse angle and sin @ =%, without finding &, find the value of cosd. 2
d) Simptlify, leaving your answer in the simplest surd form
(i) 27 +/48 - 12 ‘ 2
2

(ii) —1 +—1
J5-1 541



Question 3 ( Start a new page)

a) Solve 3x—5(x—2)+8(2x+3) =0

b) Solvetanf=—— for (<@ <360°

5

¢) Find x if cos (x+29)°= sin(3x +41j and angles are acute.

d) Find @ and b if -5 — 4455
3544

e) Express 1.45 as a fraction in its simplest form.

Question 4 (Start a new page)

a) Show that c0s210° xcosecl 50° = —3
b) Simplify the following

Zm—n m-3n

® 3 6

x 2
2 Ly
x°~4 x-2

(i)

¢} Solve —13 < 3x+2 <8 and plot the solution on the rumber line,
d) (i) Find the length of the side marked x.

(ii) Find the area of the triangle.

15 cm

Question$ ( Start a new page)

) Draw a neat sketch of the following, showing all the important features.

() y=x*-3x—4

(i y=px+i-2

=le— 1

b) (i) Show that"f' §

x x+35
(ii) Find the range and domain of y = x=3 2
x+5
(iii} Hence or otherwise draw the graph of y = x_;:; 2
X
Question 6 ( Start a new page)
a) If f(x)=3-xfor x<l1
x? -1 for x>1
(i) Evaluate F(2)+ f(-2) 2
(ii} Sketch the graph of f(x) 3
b) Find the range and domain of the following
iy y=4-3~ 2
(i) y=+4-x* 2
(i) Y4 ; 2
2l
=28 I 0 2
-
Question 7(Start a new page)
a) Complete the following graph on your answer sheet if it is an add function. 1
Vi |
- 01 % (
-2 ;
b} Simplify, leaving your answer in simplified index form:
16
- 2
23: x sl-x



¢) Determine if the function is odd, even or neither . .
(i) What is the horizontal distance, h, of the plane from the start of the runway?

41
flx)= i . 2 (i) How far along the runway does the plane touch down?
d) The diagram represents the flight path of a plane. The plane flies from a town T to a property P,
which is 83 km away on a bearing of 129" . The plane then flies to another property 0, which is
91 km away from P and due east of T'. Question 9 (Start 2 new page)
N N
TT Tg a) Simplify, leaving your answer without negative indices
N narth l xToy?
) -1 -1
wE | ey
A i b} A rectangular area can be tiled with 180 square tiles. If the side of each tile was increased
p by lem, it would only take 125 tiles to tile the area. Find the side length of the smaller tile,
(i) Copy the diagram into your answer sheet and mark all the given information. 1
I ©) An airplane leaves an aircraft carrier and flies due south at 400km/h. The carrier proceeds 60°
(ii) Find £TQP to the nearest degree. 2 west of north at 32km/h. If the plane has enough fuel for 5 hours of flying, what is the maximum
distance south the pilot can travel, so that the fuel remaining will allow a safe return to the carrier?
(iii) What is the bearing of Q from P?
€) Solve the inequality fS(x— 3)| =2 and plot the solution on the number line. 3
Question 8 (Start a new page)
a) On a number plane shade in the region given by the two conditions END OF EXAMINATION
4374 and x+y>l 3
b) If (2—+3)2(1+2+/3) = 4+ BJ/C , Find the value of 4,B andC. 3

¢) A plane is coming in to land at an airport. When the plane is at an altitude of 500 metres,
the angle of depression from the plane to the start of the runway is 35" . The plane’s path
of descent is along a straight line which makes an angle of 28" with the horizontal,
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